Name
Gas laws review
Complete the following picture

1. In the balloon provided draw the number of particles in the Helium (He) Nitsogest 1)
Nitrogen balloon using the He balloon. Both balloons are at 1 '

atmosphere and 25C. v SPame (oneifods
| - n= g;%— egust S soml niste
Short Answer; - l’éM #p
2. Use the Kinetic molecular theory to JUSTIFY/NULLIFY the
following,.

a. Inarigid container the temperature increases causing the
pressure o increase. . £, Loimpda_
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b. A balloon is floating up into the air where the atmospheric
pressure is reduced causing the balloon to expand.
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c. A piston has the force on it doubled, causing the volume to decrease and the pressure to
decrease. { a2 peaad
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d. Inaballoon of helium at 25C, all the helium particles are traveling the same speed.
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3. Inarigid container, holding equal amounts of He and oxygen at 25C.
a.  The average kinetic energy of each of these substances are equal. [

L Temp 225 °C o
b. The molecular velocity of these substances are equal. Mall; ﬁ'f
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4. 15 grams of H>O is heated until all the gas is evaporated. At 100°C and 1 atm what is the volume T3 i
of gas as it is released into a balloon? - yan "L . < S -
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5. A cartire 15 inflated to 1710'mmHg at 6°C. The temperature goes up over the next 9 days to
50°C. What is the new pressure of the tire.
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6. What mass of N gas exerts the same pressure as Clz at STP assuming they are contained in the
same 1-liter bottle.
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7. Anair &t w-with a volume of 80L at 13°C is brought to a temperature of 40°C. What isthe ™

new volume? Sk 24752 QR HO+273 = 313
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